H & 0l & AHS B Ml A

—eTee (£ &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
TAS 1,473,392 1,290,173 183,219
CAIS FEME BHASH 800,468 534,184 266,284
ANEHAE 29 550,468 484,184 66,284
oy N2 294,250 231,572 62,678
202 04| 1,380 1,702 N322
01 2K 1,380 1,702 A322
O2& WE &4 =LY
60,0003 x99 »23] 1,080
O dAt #4 U0
60,0002 12 %52 300
301 EtE N = 292,870 229,870 63,000
07 S8 -0 - 2243 279,850 216,850 63,000
oJl2+< 400,000 x45EH 122 216,000
OS& 0= 400, 0002 x45E 22| 36,000
Osd 39 #A4+¢
20,0002 x45H +23| 12 21,600
oty g3l 25,0003 x 125 23 6,250
11 #AIAMHIXIZ S 2,220 2,220 0
O3 W=, MOILL S &8 B4
10,0002 %158 x 102 1,500
ONBZEF AL S BAT} B4
10,0003 x24 & +32] 720
14 IIEt2 83 10,800 10,800 0
OSd Sl 20,0003 x45H «12& 10,800
XIS SSAFE (FIF 01014t 200,000 200,000 0
201 er=23y| 135,840 106,000 29,840
01 AtR2t2|HI 106,840 87,000 19,840
OFAls MEE =0IH 89 9,240
—E22F % 2l ZAM 7 S
8,520,000 14 8,520
—&3)| 2z 60,0002~ 12 720
OJjRotl HZet B4y 4,600
—H~=3 28 S 4,600,000 * 14 4,600
OF4d ¥EE & 20l NAAME
200,000& x25H 5,000
Olts g2 gt S 0IRE= KNEAE
20,0003 x50 *202] 20,000
OFAls HES0tel 243t
2,500,000 45 10,000
Oobts d=lt=s
10,000,000 »23] 20,000
OFQUXXIHE 228 2 X 8,000
-l & =5 7Y
1,000,000 x5 % 5,000




2N EAS
MM TAIS FOIME BOIEA
SRl AIEHEE 29 (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
—&=J] & "4l Xt
100,000 1201 = 1,200
—APEE U B0 HH
1,800,000 *14] 1,800
O=clo2 g8 ANIEE ZE ZHAE
10,000,000 %13 10,000
OSFHHl MsII8 235 &t
5,000,000 *43] 20,000
03 A2 | 29,000 19,000 10,000
22| Z0] =0t ! 9,500,000 23] 19,000
OOIAIE HE MEH M A
10,000,000 *13] 10,000
301 LetENEZ 21,160 14,000 7,160
11 HAAHIXIE S 1,000 2,000 A1,000
O=el 20| s0t! oAt S84
10,000 x50H 23] 1,000
14 JIEI2 &3 20,160 12,000 8,160
OZAls Hes =01 22 5,760
—NRASAR =Y
12,0003 *2H 20 * 1201 2 5,760
OMRs6t F@Zet &d =4 FoA S84
12,0002 *20Z *103! 2,400
OFUNXME T2 29 M=
60,0003 *40 Al 2tx524 &t 12,000
401 A& HILS0HY| 43,000 80,000 A37,000
01 Al&HI 43,000 80,000 A37,000
OJRotn) st sHF X
13,000,000 & * 1A 13,000
O2&EX 7 eFE|
20,000,000 14! 20,000
O0IANE & S &2l
10,000,000 14 10,000
AL 2 1,800 1,600 200
301 LBENF 1,800 1,600 200
11 HAAHIXIE S 1,800 1,600 200
OFCUEONUA S SHED| AUIS4
20,0002 #45% #23| 1,800
FOUXX & dEH2E X 54,418 51,012 3,406
201 L2 | 30,720 27,840 2,880
01 At 22|l 30,720 27,840 2,880
O=CRXIHE Let=ZH|
150,000« 12& 1,800
O=F2IXXal 2Id 3o+
50,0003 *45F «12& 27,000
OSIZHIAAE AH| XIZ
160,000& «12& 1,920




2M TAMS
M CAS FOME BOSX
SRl AIEHEE 29 (SH9 H2)
2 - IE
S B SR(EA) - NIRAY - BES ol ke e HmES]
301 LEt2E S 23,698 23,172 526
11 AAAHIXIRA S 1,800 1,600 200
OFoIRZIES S HFX 218
40,0002 »45H 1,800
14 JIEt2 43 21,898 21,572 326
O=2IXX2l XHESALA &Hl X2
11,000 2 +10 122 2,640
O=F2Xxs R MRE =2 A&
10,0303 *8AI2H202 * 123 19,258
MEDIRAKE] E AHE SRIAMS 250,000 50,000 200,000
MESH ofAALS 250,000 50,000 200,000
401 AIEHIZ 2018 250,000 50,000 200,000
01 Al&Hl 250,000 50,000 200,000
OZAs FEUEE 215 BI-A
10,000,000& %52 50,000
OZAts Ac2t0tE A =M
15,000,000 * 170 A 15,000
OZ A= S0 =2 Eb|
20,000,000 * 170 2 20,000
OZAls CIE0IES 2t OtAE SEMNRD| B
At 20,000,000 10K 2~ 20,000
OEAE LENE =2 FHISA
20,000,000 10K 2~ 20,000
OAE nEds =2 EdISAt
15,000,000 *1JH 2~ 15,000
Ok Als stsits =2 ZHISA
20,000,000 * 10K 2~ 20,000
OEAMS 02 =2 HHISBA
15,000,000 * 170 A 15,000
OkAMES HUHES 52 ZEIA
20,000,000 * 170 2 20,000
O A= Us0E 22 =2 Zh|
20,000,000 * 104 2~ 20,000
OEAlE H20t2 =2 ZHISA
20,000,000 10K 2~ 20,000
OEAls 430ts 2t 2lti=2 ZHISAM
15,000,000 *1JH 2 15,000
SAlEs sEDIEHES 491,152 571,152 /80,000
st d Y O 491,152 571,152 280,000
SIS S AA2 SAAL (FLUEC0 A 491,152 571,152 280,000
401 AIEHIZL 28I 491,152 571,152 280,000
01 AIZHI 491,152 571,152 280,000
OZUHE =2 HHIAt
20,000,000 * 14! 20,000
OX0te 92 =EH
20,000,000& * 14! 20,000




M SAS
M TAEs sgoIEER
J

CHel: seDlBtEa o WY
2 = SIE]
S - BE - BI(3) - NRAY - BAS il v e

Ol 52 FBAl

20,000,000 * 14! 20,000
O« E =2 ZXISAt

20,000,000& *14! 20,000
OAxctitE s2 ZESA

20,000,000& *14! 20,000
O 202 =2 HHIAt

10,000,000& * 14! 10,000
OEZE s2 0tAZE IMRD|

20,000,000& *14! 20,000
OLELE s2 &XBA

20,000,000& *14! 20,000
OCt=E S2 0tAE ZESA

10,000,000 * 14! 10,000
Og= gd2Y 3018 014 ¢ MEX

6,152,000 * 14! 6,152
Ots =2 HESAM

20,000,000& *14! 20,000
OEs =2 ZEIA

15,000,000& * 14! 15,000
OgE0lE erd SEEHIAY

10,000,000& * 14! 10,000
Oz=d 02 e ZF

20,000,000& *14! 20,000
OLEXNT =2 HdISA

20,000,000& * 14! 20,000
OO0F=0t2 ot OtAE THLEE SAt

20,000,000& *14! 20,000
OKNEDOIS H3tAMY

15,000,000& % 14! 15,000
OsEilE 2= =AMLY

20,000,000& * 14! 20,000
OE50t= st

15,000,000& * 14! 15,000
OQtEXI7 A CCTV & X

20,000,000& *14! 20,000
OUUX+ s2 0tAF 2L

20,000,000& * 14! 20,000
OUsits s2 0tAZE TIM D]

15,000,000& * 14! 15,000
Ouzs =2 &xISAt

20,000,000& *14! 20,000
OQIEiOIS 01 OfAR SN

20,000,000& * 14! 20,000
Oaciits erd & =2t 4

10,000,000& * 14! 10,000
Ozts0E o2 Hdl ¥ e XIS At

15,000,000& % 14! 15,000




2A:

M CAS SIIUTS
el selletad 2O (Gt H2)
2 - IE
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
OsHOtE 2&el ZHAE
20,000,000& 14! 20,000
OEits g2 0tg Ehl
10,000,000 14| 10,000
OCHAI Di23l& &4 FHIAIY
20,000,000 * 14! 20,000
HE2HEHI(ZALS) 181,772 184,837 3,065
QI A| 70,294 66,557 3,737
oI AH| 70,294 66,557 3,737
101 @I24H| 70,294 66,557 3,737
01 E= 70,294 66,557 3,737
OAIRtI 28
11,9502« 15 *30A| 2H+ 12 64,530
OAlIZIRI 2R (A2 &)
96,059% * 160 5,764
Jl=Zhl 111,478 118,280 26,802
JlE2&l 111,478 118,280 26,802
201 Lt | 56,218 62,980 AB,762
01 At 2telt] 25,613 28,975 A3,362
OARES 7Y 8,000& x 18+ 12& 1,728
OQHIIANMFH =22
220,000& =123 2,640
OeHIOIHEZ =2
152,000&+12& 1,824
OAYHNFE =2
200,000& =123 2,400
OF=J| & "ol gxt=z
110,000& * 12& 1,320
OSAIEX 22 (M)
22,0003 x6 Ax12F 1,584
O=AD| EH S #¢
230,000& *2CH+63] 2,760
OdIOIdEEH EH S 7Y
219,000& *1CH*43] 876
OBHADLET TA 7
12,0003+ 12& 144
OSAPD], Zgly =82 Xl
338,500& *23] 677
OoXdDI=HE RB=&E 72
2,0002 2001+ 123 480
OJ12g2F8 E2 ialdl
9,000 x17Z 5L+ 12& 9,180
02 33244l 30,605 34,005 A3,400
ORER3 500,000& 123 6,000
OHMIIMNEZ 1,400,000 =123 16,800
O4dt=E MEZ 70,0003+ 12& 840
ose3a 90,0002+ 128 1,080




2N TAS
M HZRIZHI(ZALS)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAIZ2 &l |XId| 100,000& « 12& 1,200
O2Sitg A=l 80,208 *2CH* 122 1,925
oZsitg =d7 bl
160,000 42 640
OXSIAl & 2K
120,000& %12 120
OdLED| 2==H| 100,000 »20CH 2,000
202 04dl 43,200 43,200
02 A0 43,200 43,200
OZA04H| 225,000 x16H* 122 43,200
203 =4l 12,060 12,100 A40
01 D22 HARFA| 7,700 7,700 0
O=AMSE 7,700,000 14 7,700
02 FRItAHA =AY 760 800 240
Ot =8| 760,000 12 760
MU A2 LRFAI 3,600 3,600 0
ORANEgg =AY
300,000 * 12 3,600




